5)\7,5‘5\ ?}.Ld\j cM\ e}lﬁ cag\..a.:é’ﬂ\ e).w\ w— O\J,“.LF« Z\.\A\r
iydladl OlLbl) ¢ el St

01 3, g JlosH ik
(o) g el

375 (9542 —3y-1 2 _2v-1 s (yHT
(2°)°.(2°)°, (y™>™) ", ky z)y . (xyz), (—y-1)-2
:( J.a\}ad\ ) L}L‘*J\ o o)
3x2%y + 6x, x2?y? -0, x*>—5x+6, x> +6x+9,
2x% —8x + 8§, 6x% —x — 12, x3 —8y3
I cﬁ}"'d‘
W EY E) VN PR P

3x—2+4(1—x)=5(1—-2x) — 12,

1 1 2
3(2x+1)+2x— 3 (1-2x)—4

2 3
—+—=1 a)forz, b)fort
Z zt
2 Yfory, byfort
z="_ a) fory, D) for

1Akl YWY )t Yy el
&MWQKJ&?MLQ\WMJJ
fiw 43 s ol (’ﬁj\ W e ¢ gast O\ 13 oY .L&\ﬁ_c.b-)\ 1 glall

1 SNl ) el oy o)

e Joam bog saty 0 %0 7 Ay o ekl b ndn 50 (615 90 10 Gy e Jo jainad
221200 55 oyl o Al 2 s
o) o s S0 ezl AL s Lo 1o hlaly




